Pounds to Kilograms

Name: Class:

Fill in the correct numbers.
Take 1 pound = 0.45 kilogram and round your answers off to the nearest hundredth.

3 pounds = kg 0.3 pounds = kg
16 pounds = kg 1.2 pounds = kg
11 pounds = kg 1.41 pounds = kg
0.5 pounds = kg 29 pounds = kg
1.8 pounds = kg 0.02 pounds = kg
0.1 pounds = kg 2.06 pounds = kg

If 1 pound = 0.45 kg, 1 kg equals 1/0.45 = 2.2222 pounds!

30kg = pounds 1.5kg = pounds
200 kg = pounds 10.8 kg = pounds
400 kg = pounds 70kg = pounds
250 kg = pounds 123kg = pounds
120kg = pounds 25kg = pounds
390 kg = pounds 150kg = pounds
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Answers

Fill in the correct numbers.
Take 1 pound = 0.45 kilogram and round your answers off to the nearest hundredth.

3pounds = | 1.35 | kg 0.3 pounds = | 0.14 | kg

16 pounds = | 7.2 | kg 1.2 pounds = | 0.54 | kg

11 pounds = | 4.95 | kg 1.41 pounds = | 0.63 | kg

0.5 pounds = | 0.23 | kg 29 pounds = | 13.05 | kg

1.8 pounds = | 0.81 | kg 0.02 pounds = | 0.01 | kg

0.1 pounds = | 0.05 | kg 2.06 pounds = | 0.93 | kg

If 1 pound = 0.45 kg, 1 kg equals 1/0.45 = 2.2222 pounds!

30kg = | 66.67 | pounds 1.5kg = | 3.33 | pounds
200 kg 444 44| pounds 10.8 kg 24 | pounds
400 kg 888.88| pounds 70 kg 155.56 | pounds
250 kg 555.56| pounds 12.3 kg 27.33 | pounds
120 kg 266.67| pounds 25 kg 55.56 | pounds
390 kg 866.67| pounds 150 kg 333.33 | pounds

copyright:

www.mathinenglish.com




